Train Time Worksheet

Destination Journey A Journey B Journey C
London 10:17 11:37 16:43
Derby 12:12 18:08
Sheffield 12:38 13:08 18:27
York 13:16 13:58 19:14
Newcastle 14:06 14:34
Duration and35hr?1til|ttsutes

1. Journey B takes 1 hour and 16 minutes to get from London to Derby. What time do you

arrive at Derby?

2. Journey C takes a total of 3 hours and 5 minutes. What time does it arrive at Newcastle?

3. How long do journeys A and B take?

What is the difference in time?

4. You need to be at York for an appointment at 14:30. Which is the best journey to take?

How much spare time will you have in York before your appointment?

5. You arrive at Sheffield train station at 16:50. How long do you have to wait for the next

train to Newcastle?

6. How many stations does the 11:37 train stop at before it reaches York?
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Train Time Worksheet

Destination Journey D Journey E Journey F

London

Derby

Sheffield

York

Newcastle

Duration

7. Journeys D, E and F run exactly 11 hours 35 minutes later than journeys A, B and C. Fill in

the timetable above.

8. Create your own train timetable with three journeys. Use your own stations and times.

Destination Journey ___ Journey ___ Journey ___
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